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WHAT ABOUT THE NUMERTTOR ? NE NEED TO FÌND E AND Ez .

Let' s considera THE ADMITTANCE
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THE ANALYSIS IS New COMPLETE ! TO BE COMPARED WITH
BRUTE FORCE APPDOACTI ! !



LESSON #3

BASIC NETWORK ANDRIS
HYPOTHESIS :
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CIÈ 2

.
CAPACITORS ARE ElectricalLY
INDEPENDENT

LINEAR Circuit NETWORK

3 . THE RANK OF Matrix [R] is
Full

N CAPACITORS ⇒ n = N = m
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STATE MATRIX OF THE CIRCUIT

LET' s arcuate THE CHARACTERÌSNÉPOIYNOMIAL OF THE NETWORK
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DEMONSTRATION : LET' s calcolate THE Relation BETWEEN Viiii AND D; , ij
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$ HIGH FREQUENCY RESPONSE
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AND ASSUMING THAT THEE IS A DOMINANT Poo THEN
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THEN 91 ≈ 21 ⇒ WE ESTIMATE Un ≈↓
THE so cntlld OCTC METHOD CONSÌSTS IN ASSUMING
A DOMINANT POLE -AND ESTIMTTING
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IN THIS ME 92 I GG È asta ⇒ Wa è ¥
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